\\ 7
)}/
f
\ i
\

- p— /,I
LAST NAME: FIRST NAME: K Z o y

Math 65B - Summer 2016
Quiz 3: Tuesday June 14, 2016

1. (1 point) Find the arc length of the following function from y = 0 to = Z:

y = In(sec(z))
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Please, show all work.
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2. (1 point) The given curve is rotated around the y—ax;} Find the area of the resulting
surface for 1 <y <2 : .

1 3
< r==(y*+2)2
N S
) . ]:Ojfnw)/d
Oy ‘F(X) FO)LQ'LeJ L COVA ol /'(‘4&/(65

{5 X ye fﬁzf‘,t(,df,L(m) iy
O )’ ﬁ&i\ rdeJQ( ﬁfabndﬂ*d‘”‘”éh‘}

— S Jw?// yj /7 (J_, o o

/@ X ,3/y Fo{-cvlez/ 4% A Hanis
S j,;// Jir (%) dy

|
l
NI A B
)::' /1"}’ (y%) \é@ R L;fw\ é"bé 7L. >(~4,(15
| | f S’j A7 x | I+ (‘;’{{) dX

= Usrz, (2 {ron Nﬁ‘»*

S»Jwy(yw)aly 5 | SJX//N’*(J d‘y
|

*~>x‘//fg(7 Ly) dy | A% or ATy cocrespineds 4o

.) | \ QC (,«(‘c/[e %%czz(
; 1 ] > CLY‘(‘,U% L&’“enpéf o

(o) e ot v

i

_ g’“ﬁ:—\ ' | (/)\4) 5 rc}aica( ‘
= L

: ] U




